

AHARA CHUKWUEMEKA

MBBS

19/MHS01/061

MAT 104

1 $y - 3x - 2 = 0$... eqn (1)

making y the subject of

$$y = 3x + 2$$

$$y = mx + c$$

$$m_1 = 3$$

eqn

$$3y + x + 9 = 0$$

$$\frac{3y}{3} = \frac{-x}{3} - \frac{9}{3}$$

$$y = \frac{-x}{3} - 3$$

$$m_2 = -\frac{1}{3}$$

$$m_1 m_2 = -1$$

$$3 \cdot -\frac{1}{3} = -1$$

\therefore The lines are perpendicular to each other

2 $3y - 4 = 2x + 3$ and $y - 5 = x + 6$

$3y - 4 = 2x + 3$ - eqn (1)

making y the subject of formula

$$3y = 2x + 3 + 4$$

$$\frac{3y}{3} = \frac{2x}{3} + \frac{7}{3}$$

$$y = \frac{2x}{3} + \frac{7}{3}$$

$$m_1 = \frac{2}{3}$$

$y - 5 = x + 6$ - eqn (2)

making y subject of formulae

$$y = x + 6 + 5$$

$$y = x + 11$$

$$m_2 = 1$$

For the two lines to be perpendicular m_1

$$\frac{2}{3} \times 1 = \frac{2}{3}$$

$$3 \quad x^2 + y^2 + 3xy - 11 = 0$$

$$2x + \frac{2y \, dy}{dx} + 3 \left[y + \frac{x \, dy}{dx} \right] = 0$$

$$2x + \frac{2y \, dy}{dx} + 3y + \frac{3x \, dy}{dx} = 0$$

$$\frac{dy}{dx} [2y + 3x] = -\frac{2x + 3y}{2y + 3x}$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$\frac{dy}{dx} \Big|_{\substack{x \rightarrow 1 \\ y \rightarrow 2}} = \frac{-2(1) - 3(2)}{2(2) + 3(1)}$$

$$\frac{dy}{dx} = \frac{-2 - 6}{4 + 3} = \frac{-8}{7}$$

$$m = -\frac{8}{7}$$

$$y - y_1 = m[x - x_1]$$

$$y - 2 = -\frac{8}{7} [x - 1]$$

$$7y - 14 = -8x + 8$$

$$7y + 8x - 22 = 0$$

which gives equ